INSTALLATION INSTRUCTIONS
MORTISE DEVICE

m\;

2222222



2023-A

Mortise Lock Armor Front Strike

T\ 1\ o

o——n(]/ D""_\
Backplate Screws Armor Front Strike Screws
Screws

End Cap Bracket
’ \\ Sex Bolt
(Only available
on fire-rated)

Sex Bolt

(Only available

on fire-rated)

\

Mounting Plate /
(Only required
when trim applied) P
v T
Push Rail / .

Dogging Hex Key
(Not available on fire-rated)

Sliding Cover Mounting Rail

Fire Kit ¢
(Only available
on fire-rated) /
/
Act Arm

Hex Key

Head Cover



SCREW CHART

APPPLICATION METAL | WOOD SEX BOLTS
M6x20
Chassis A (bIIII]II[II]]]]l]]I]]]]]]] (2 pcs)
assis Assy
ST4.8x %"
Screws [[D]II]]I]]]% @ pcs)e
(2 pes)
M6x20
({55,
End Cap Bracket (I:[mmmﬂﬂmm]ﬂmm]mmg ST4.8x1 4"
Screws (3 pcs)
M6x10
| I A
Head Cover M4x8
Screws D]I]]]]]l]] (4 pcs)
ggi&l:p ) | li M4x8
! (2 pcs)
Fire Kit M4x8
Screws (]]H]]]]]I] (1 pcs)

Screws (1 pcs)

Act Arm IW ﬂ:[l M5x16

Backplate [jIHIIIII] N M5x25
Screws - (2 pcs)
/
w—a
Armor Front M4x6
Screws p Dl]]ﬂﬂl (2 pcs)
Strike ] H)mmmms M5x25
Screws I (2 pes)
D0,

2023-A 2



DOOR PREPARATION CHART

RHR Outside LHR
Inside (F_
CENTER CASE -4 HOLES .B | B
Surface Mount |  Sex Bolts @ o
3/8" Hole x 2 w e
METAL | ST4.8x%" x4 | (Trim Side) 2 3 &
(Device Side) | g/32" Hole x 2 o 2
WOOD (Device Side) Q o
g8
Drill four (4) 11 holes on the door o m
for exterior trim installation Q
(See Template)
__|Mortise| ¢7
@ G Case | ‘.
I
A _ Center _ L
AN Case (E —
Fan
® £
(e 0]
o
NER
-
END CAP BRACKET - 3 HOLES
Surface Mount Sex Bolts
3/8" Hole x 1
METAL | 574.8x1 Y"x3 (Trim Side) Cut-out for Act Arm
. 9/32" Hole x 1
woop | (Device Side) (DeviceOSE?dxe)

2023-A

4Y4"(108mm)

@
\i\

73/6"
(3
S,
T
£
2 S
= 2
B £
8
T~ T
Ny <
N TSS
8
For Single Door 3

For Double Door




DARW HORIZONTAL ALIGN TEMPLATE ALONG
DEVICE CENTERLINE (¢ ) CENTERLINE AND MARK DOOR.

r
/

E =TS Template\
;
- —
Hinge Side /Q/ Lt
- ,/‘i
8 - |
=
3 |
% |
=
/\ ~
\/
Close door,mark horizontal centerline on inside face of Mark 4 center case holes.Mark vertical centerline at
door and on lock side door stop from finished floor as lock side using 2%" backset dimension.
shown.(Continue horizontal centerline to outside face of
door if trim is used)
PREPARE 4 CHASSIS ASSY HOLES 4 INSTALL MORTISE LOCK
AND MORTISE LOCK CUTOUTS. INTO DOOR.

Backplate Screws

X

| 5]

| \/ u
(Only required Lo I

when trim applied) S X010 t—

o

Mark vertical centerline at lock side using 2%" backset
dimension (if trim is using mark vertical centerline on the
outside face of door .Use extra care if edge of door is beveled, Install mortise lock into door and fasten with

be sure X-X vertical centerline is parallel to edge of door). backplate screws.

2023-A



5 INSTALL MORTISE LOCK 6 INSTALL TRIM (IF USING) TO DOOR.

Install face plate of mortise lock. Then, fix
the mounting plate on the mortise lock by
two screws.

(This mounting plate is only for exit device,
when no exterior trims installed.)

EN
(Only required
when trim applied) ‘,g

i

\@ For Exterior Trims:

Support screws are required for installation.
Need to drill four (4) holes on the door (please
refer to TEMPLATE) and only needs two (2)
screws to fix the exterior trim (refer to
TEMPLATE of Exterior Trim, accordingly)

L2

INSTALL ACT ARM
(Standard handed is RHR as shown)

2023-A



INSTALL SUPPLIED STRIKE TO

8 SECURE DEVICE CHASSIS ASSY FRAME OR OTHER DOOR
1-1/2"minimum clearance (with the cap
removed) if device is too long for door. §\>

L

E \/\/

5 [P

Double Door Application

See"STRIKE PREPARATION" before for
preparation information.

1 INSTALL MOUNTING BRACKET AND
END CAP.

Lever Device

)
/°l° o °I
e’/

/nd Cap Bracket
Screws
N

End Cap Bracket

2023-A 6



1 1 ADJUSTING LATCH BOLT 1 2 INSTALL HEAD COVER

2
8

%
ne

a Head Cover Screws

Head Cover

g
V|
Adjust to fit proper gap between act arm Attach cover to chassis Assy with four (4)
and thumbpiece part of mortise case. chassis Assy screws.

1 TEST PUSH RAIL & THE DOGGING
FUNCTION

1. The latches should engage the strikes when the door is closed, and the latches should disengage from the strikes
freely when the push rail is depressed or dogged down.

2. When applying outside trims:

(1).No trims : Exit only, latch bolts are retracted just by the push rail inside.
(2).Entrance : latch bolts are retracted by trim outside after the trim unlocked.
(3)-Storeroom : latch bolts are retracted by trim outside with key only.
(4).Passage : latch bolts are retracted by trim outside always open.

4.Dogging : Use dogging hex key and turn clockwisely 90° when depressing push rail. Latch bolts will remain retracted.

2023-A 7



1 4 CHANGE HANDING OF DEVICE

14 A For ANSI type

rated type

14B For Fire-

<RHR as shown>

2023-A



< LHR(After changed) >

OPTIONAL DOGGING

push rail must be pressed down

when turning the key

set up to passage:

press down push rail and turn key

counterclockwise.

press push rail and turn the key,

then release the push rail

press the push rail and turn key clockwise.

release from passage:

MORTISE

SLIDING COVER

CYLINDER COLLAR

1. Exchange the sliding cover from standard to

cylinder dogging kit.
2. Put the plastic plug inside the original

dogging hole.

2023-A



OPTIONAL ALARM FUNCTION

Exchange the sliding cover
from standard to alarm kit.

ALARM KIT

Test the alarm kit. Turn the alarm function on
and press push rail to test the alarm is workable to sound.
Then, turn the alarm function off.

turn key counterclockwise

! turn key clockwise
to turn on alarm function

to turn off alarm function

CUT DEVICE (IF REQUIRED)

Cut off line

Recommended minimum clearance between frame and
device end (with end cap removed) is 1%"(38.0mm)

%

Tape

Hinge 1. Mark the device

Side

%

Center case aligned

with mounting holes. 2. Cut off device
and deburr.

Note: Device must be cut
square for proper end cap fit.

. 2023-A 1 0



MORTISE LOCK PREPARATION

1.Prepare door for device and trim (see their instructions).

2.Prepare door for mortise lock (see preparation on other side of these instructions).

3.Change lock handing if required:

TOP VIEW

il
il

VRN
)

D

i

I

& :
Y Q=
Rotate 180 \ODQ\

Tighten the screw at another side

Remove the screw

METAL DOOR PREPARATION FOR MOTRISE LOCK

1%"(35mm)

— — O —_

— _g._g__QLfMoLse_Lo_w N

o T =

e 3

- 5=t —(E—of Exit Device 5 B
g [ E E
£ 3 E
o 2 X
S x| L_J2
X 5 3

Door Dimensions . .
Frame Dimensions

WOOD DOOR PREPARATION FOR MOTRISE LOCK

1%6"(33mm) |
7/a"(23mm)

67/16(1 63mm)
8%"(205mm)

LI

4%"(105mm)

N

° Y4"(5mm)

11

2023-A




TEMPLATE FOR MORTISE DEVICE (1:1)

) LS

¥ TownSteel

‘#/ Architectural Hardware MFG

A
\ 1" (25.4mm)
P B __
D || | LOCK CASE S
B 4 You (114.3mm) B\ LHR M
| DEEP
BT #10 TAP*9 INSIDE
. - Ye'(4.8mm) 1 "%4r (30.4mm) FOR SEX BOLT, DRILL
— %!(#9.6mm) HOLE OUTSIDE
£
- T | = g
E s S
3 ol 3 2
= o ~| o S @ of Mortise Case
T - - - —_— —_— 7/16"(1 1 .1 mm) X4 4%4n(18mm)
| INSIDE 1"%4" (30.4mm)
3
5 £
= § @)
\ HOLE N T % £ 7 g
A fD 2 £ N
£ g - / o
<%, g ) | @ —
< c}‘% _ o E
- El|. %
3 o

STRIKE
o (FOR LHR)

L/ 2%%4" (10.7mm) ACTIVATING ARM TO CONTROL MORTISE LOCK
THUMBPIECE PART. 3ONLY CUT-OUT THIS
HOLE ON THE DOOR WHEN LHR APPLIED.

25" (21 .4mm)

L 1 Yar (32mm)

2 ¥4"(70mm)
FRAME RABBET BACKSET -

a2 (13.4mm)

8

DOOR EDGE e | 2 *)

2023-A



> TownSteel

‘#/ Architectural Hardware MFG

TEMPLATE FOR MORTISE DEVICE (1:1)

D
1" (25.4mm) /QJ

amﬂrb‘ﬂ W

LOCK CASE o
[ B . 4% (114.3mm) || - |
DEEP &k e

:\

RHR

#10 TAP*9 INSIDE

FOR SEX BOLT, DRILL
%'(#9.6mm) HOLE OUTSIDE

1"%4+ (30.4mm) Yi6'(4.8mm)

%"(13mm)

6 %6 (157.2mm)
7 Yar (184mm)
8" (203.5mm)

|

(EofMortise Case S

% (11.1mm)x4
INSIDE

*%64"(18mm)
1 %4" (30.4mm)

HOLE

1)%" (28.6mm) |
DEEP

1 %" (38.0mm)

4"%4" (106mm)

%2" (15.2mm)

(EofDevice e

6 *%2" (177.2mm)
|
1 %4" (30.4mm)

§ =
K 5 _
Q € *,
A g [\
:‘ 4& @ & = N
‘ | o = ¥

=3 T A 2

: : :

@ :

"oy 3

2 S STRIKE

(FOR RHR) 4R\
ACTIVATING ARM TO CONTROL MORTISE LOCK 274" (10.7mm) = N
THUMBPIECE PART. $ONLY CUT-OUT THIS £
HOLE ON THE DOOR WHEN RHR APPLIED. 272" (2t 4mm) 3
= 17 (32mm)
27%(70mm) . FRAME RABBET
o _ | BACKSET
. FOR SEX BOLT, DRILL
%" (9.6mm) HOLE OUTSIDE D O O R E D G E

2023-A



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	【安裝卡
	A
	B




